DRI # 677
Verizon

Tower
Height
Extension

1inch =1 250 feet

400 800

o




Carter

1,250 feet

o drom
A¥2and fanie Non Grew Dlere

Tsbury Cosstal District

o od P S B EREN 00
ORIONAME

Tower
Height
m..

Sammare
Foa Tl
e Toa

Verizon

400 800

DRI # 677
- or § Foace Dlarrer- Mo b Soace Zore

.
sas Zig b & W Ay
Tisbury Overiay Zoning

Tisbury (pub. 2012)
DESCRIEBE

POLY_TYPE

1inch

[ s

0

w
 — s
(o) (]
o =
= -
[(}] w
. —
w 8

T

=

cs\4
RN




DRI # 677 Verizon Tower Height Extension

Applicant: Verizon New England Inc; Geoghan Coogan
Esq. (Agent).

Project Location: 228 Edgartown Road, Tisbury, Map 14-A
Lot 3 (4.12 acres)

Proposal: To increase the height of the Verizon Tower used
to transmit landline calls and Internet access via narrow
width microwave between Vineyard Haven and Falmouth
(also handles Nantucket) from 77 feet above the ground
level to 130 feet £ above ground.

Zoning: R-20 Residential
Local Permits: Special Permit from ZBA; Building Permit



DRI # 677 Verizon Tower Height Extension

Project Summary:

* Toincrease the height of the Verizon Tower used to transmit landline calls and Internet
access via narrow width microwave between Vineyard Haven and Falmouth (also handles
Nantucket) from 77 feet above the ground level to 130 feet + above ground.

* The additional height will be constructed above the existing tower.
* The calls transmitted include police, fire department, EMS, E911 calls.
* One new piece of equipment, an 8' dish, will be installed on the tower at elevation 125.
* The following existing equipment on the tower will be relocated to a different height:
— A 6' diameter dish at elevation 55' above ground will be re-installed at elevation 95’;
— A 6'diameter dish at elevation 6S' above ground will be re-Installed at elevation 102°;
— An 8' diameter dish at elevation 75' above ground will be re-installed at elevation of
128"
e Applicant says that a number of trees In the Vineyard Haven area are approaching the
height at which they will obstruct this transmission. Some of these trees are on private
property and others are on public property and have been classified by the Town Tree

Warden as shade trees which would require a public hearing to determine if they can be
trimmed or removed.

* Verizon anticipates that these trees and others will grow and cause service interruptions
e \Verizon’s stated goal is to get as close to 100% annual two-way reliability as possible.




Planning Issues

* Visibility: Existing and proposed photo simulations indicate
that the higher tower will be more visible along Edgartown-
Vineyard Haven Road.

* DCPC: The existing tower is within the Island Roads DCPC. If
the tower were moved further back on the property outside
of the DCPC the taller tower would be less visible while
driving along Edgartown — Vineyard Haven Road.

NOTE: The applicant is proposing to extend the height of an
existing tower not build a new taller tower.



DRI # 677
Verizon
Tower
Height

Extension

Trails, Wells
DCPC's

N

| P asar T wmas e _on

MW e cerang & ecw Way
—Crade b
o mane
e Tl
Tisbury (pub. 2012)
POLY_T YPE
sot
ca8 2 W Ay
ae
Tisbury Oweriay Zoning
DESCRIEBE
[ e e
o 0d P S Fe EREN 00
o8 @omn Surea
S B P e T
lan 4 Foacke Darrer - Ma b Soace Tore
geanPonsd aria
L L T Ll
WYEand dank Noh Ghow Qe
Tisbury Cosstl District
ORIONAME
Fow T

Wand Zhre

1 inch =250 feet

0 75 150 300




DRI # 677
Verizon
Tower
Height

Extension

M Trails, Wells
' DCPC's

MW g ang e Way
—Cerede B
o mane
P Tad
Tisbury (pub. 2012)
POLY_T YPE
<
soe 2o & W ay
e
Tisbury Overiay Zoning
DESCRIBE
mu‘am

o od Pain D T EREN 510

m- 8 o Sartc
| ‘ - v aie Braseinen Sas

or 4 Foace Dlarrer- Mo b Foace Zore
RS = L ageanPunat aria

L T

-A'-‘IIM aceni Non drewe Dlarer
Tisbury Cosstal District
ORWNAME

o Tora

W e

1 inch = 125 feet
0 375 75 150

Feet




£

NI

i

fi
il

| i

¢

.mm
g s
il

ME 1 il

» [ et &2 |51LLEE ils] 3 N
LA WU Jh 5

P 4l s i il f










Existing versus Proposed Tower Height

e

2\ PROPOSED TOWER ELEVATION w» [ »
oo eSS

MARTHA'S VINEYARD

AL TV
2 TURNING MILL

E CONSULTANTS, INC.
TV OPRS, ENCGINIS S AND
CONKTRLCTION VAXACRS
- TEn moAD W )
'0: AT A - A

TEL 300 N30 ¢ P AA S0m aten
v s
MO

228 EDGARTOWN ROAD
TISBURY, MA 02568

S | S4/27/%7 | mOv. ww D

o |ea/13/77 | mv. oL TeR. G/

A | V1458 | STED 1Ok RIVIOY

[ SRawy Y o

OO o Wy

DY TMD

EXISTING/PROPOSED
TOWER ELEVATION

Z-2

WAL LY
-






SHEET INDEX

PROJECT SUMMARY

APPLICANT/LESSEE:
VERIZON
CONTRACTORS:

CONSTRUCTION:
TBD.

CONSULTANTS:

STRUCTURAL COMPONENTS, LLC

1-866-386-7622

FOR CNGINCERING QUESTIONS CONTACT: WESLEY CULVER

FOR CONSTRUCTION AND FIELD SERVICES QUESTIONS CONTACT: RYAN HUBERT
FOR MATERIAL QUOTES AND FABRICATION QUCSTIONS CONTACT: SCOTY STEKR

TOWER OWNER:

TURNING MILL CONSULTANTS, INC.
68 TUPPER ROAD, UNIT 3

PO BOX 1159

SANDWICH, MA 02563

CONTACT: MICHAEL JOYCE
508-828-4383

ARCHITECTURAL:

T-1 TITLE SHEET
GN-1 GENERAL CONSTRUCTION NOTES
GN-2 SPECIAL INSPECTIONS

STRUCTURAL:

BOM-1 BILL OF MATERIALS
BOM-2 BILL OF MATERIALS (CONT'D)
S-1 SPECIFICATIONS

DETAILS:

D-1 CONSTRUCTION SEQUENCE

D-2 REINFORCEMENT DETAILS

D3 REINFORCEMENT DETAILS (CONTD)

D4 REINFORCEMENT DETAILS (CONT'D

D5 REINFORCEMENT DETAILS (CONTD

D6 REINFORCEMENT DETAILS (CONT'D

D-7 REINFORCEMENT DETAILS (CONT'D

D8 REINFORCEMENT DETAILS (CONT'D)

D-9 REINFORCEMENT DETAILS (CONTD)

D-10 TOWER EXTENSION DETAILS

D-11 TOWER EXTENSION DETAILS (CONTD)

D-12 REINFORCEMENT DETAILS (CONTD)

D-13 REINFORCEMENT OBSTRUCTIONS

D-14 REINFORCEMENT OBSTRUCTIONS (CONT'D)
D-15 ANGLE-X SAFETY CLIMB DETAILS

D-16 TOWER EXTENSION SAFETY CLIMB DETAILS




U ISTEge PYUTERTTES OBy SWeV TeewessF Ve

il SR ol St . i dldninin s ]

P FVEENEEUSVIW. | SELNPN I NN . NGy GV N SN S S OSSN

PRELIMINARY DRAWINGS FOR
VINEYARD HAVEN, MA

R

2 TURNING MILL
CONSULTANTS, INC

>

11611 E S1ST AVE
DENVER, CO 80239

- S
verizonvircless
STANS
SITE NAME:
VINEYARD HAVEN PRNOTFOR
SITE NUMBER: CONSTRUCTION
ASR - 1006321
SITE ADDRESS: R Mo s
228 EDGARTOWN ROAD S eisies 3 0 alort parard ey
VINEYARD HAVEN, MA 02568
WLVEAON. ‘
[T T T T5I8
SHEET INDEX BEE
VICINITY MAP APPROVALS PROJECT SUMMARY ARCHITECTURAL: AE
DRCPUNE SNATURE OATE__ || APPLICANTILESSEE: &; %mmm
PRE CONSTRUCTION VERZON SRICUL AGRCTION o
INSPECTION ¢ CTORS: STRUCTURAL: Q
3 Bot2 mgmmm 3
B0 s B BRa s
CONSULTANTS: e w0 4k
N SEQUENCE = |8
PR} Mo B3 REnroRcewENT T £1s
Wag%wm% % m%rwrz. 3 -
LESSEE TR ST, DTS D AACATEN O ZIEAE CMTACT SEFT L3 os Wﬁ"awa' NT DETALS (0ONTC! | 2|8
%*WMWY: - --[u - o';
TOWER OWNER: 33 RENCOACOUENT DETALS (SONTD) —_—
MILL CONSULTANTS, ING, B9 TONER DXTENGION CeTAL e
68 TUPPER RCAD, LNIT 3 W\‘TNTALSOW 230 COGARTOWN ROAD
Poaammum o1 mm“ TRUCTIONS VINCYARD WAVEN, A 2508
CONTAGT: MICHAEL JOYCE Diré MLEX SAFETY COME e, o) rr—
0% TOWER SAFETY CUMS DETARS [ et
S.5.7.
REINFORCEMENT
CODE COMPLIANCE SITE INFORMATION JURISDICTION L o i
DOMNRTING MARTWAT VINEYARD ARPORT MEAD S0 0N ASSORT K0 LR 4 [FT ONSD ALL WORK AND MATERIALS SHALL 22 PERFORMED AND INSTALLED N
e i L T | [ASGERETSS R Qe A AN || Lamrupe:  41.44500N HEEE
COMUD. TOTAL SEAVCE § WL, W MNITCS PLANS IS TO B CONSTRUCTED TO PERMT WORK NOT CONFORNG TO | | L ONGITUDE: 70.6084°W DUKES COUNTY. MA e
WOTK: A VERCON REPRESENTATIVE £ RECUAED TOIE O 4TC FOR ACSESS THESE OOCES. ” ——
T™1 (0




ELEV: 130™-0"

X XXX

©

RIXIXIPAC KKK X

QX

)

)

\V<
A

®

<

2

XK,

AN

Q

TOWER SPECIFICATIONS

TURNING MILL

D=315° A=45°
PROPOSED PROPOSED
VERIZON __ VERIZON
(2) EWS2 (2) EWS0 TO 102"
0 95 {2) EW90 7O 128"
PROPOSED
VERIZON
(2) EWS2
TO 125
c=225° B=135°
COAX P NSIDERED
IN THE STRUCTURAL COMPONENTS,
LLC PASSING WITH MODIFICATIONS

STRUCTURAL ANALYSIS
(SCJOB NO. 160891, DATED 11/11/2016)

]
MANUFACTURER UNKNOWN ‘n- e
HEIGHT / TOWER TYPE 77'-2" TOWER EXTENDED TO 130'0" / (4) LEG S.5.T. B
CURRENT STRUCTURAL ANALYSIS
COMPANY STRUCTURAL COMPONENTS, LLC
AUTHOR / FILE # / DATE WESLEY CULVER, P.E. ] 160891 / 11-11-2016
5 mﬂs
DESIGN SPECIFICATIONS EE ompon
TIA-222-G (I8C 2009) DUKES COUNTY, MA =
CODE MA AMENOMENTS TO 1BC L R
WIND SPEED (BARE) 120 MPH 3-SECOND GUST S
WIND SPEED (ICED) 40 MPH 3-SECOND GUST
ICE THICKNESS 3/4" RADIAL o
SERVICEABILITY BASIC WDID
60 MPH 3-SECOND GUST
SPEED PRELIMINARY,
EXPOSURE CATEGORY C NOT FOR
TOPOGRAPHIC CATEGORY 1 CONSTRUCTION
STRUCTURE CLASS I
SEISMIC SITE (LASS D, $5=0.179, S; = 0.051
SEISMIC DESIGN CATEGORY | B
™he e et ot
TOWER MODIFICATION SCHEDULE D o S wPver s Dt St
aEVATiu 1HDNN O T L Pamed A WYy
TEM DESCRIPTION o -~ DWG. NO. =
1 INSTALL ANGLE-X ANCHOR RODS. 3-3° 3'-3" D-2 & D3 IEE
-1, D2, D4, Bk
2 INSTALL 5x5x1/2" ANGLE-X REINFORCEMENT. 0-0° 45'-4" | Ds, D13, T
& D-14 2=
SWAP OUT THE EXISTING DIAGONALS WITH 2
3 NEW 2x2x3/8" DIAGONALS. 45" -4 47 -5° D1 & D6 .
SWAP OUT THE EXISTING DIAGONALS WITH e e 3
4 NEW 2-1/2x2-1/2x5/16" DIAGONALS. =8 52'-2 D-18.06 3
Z (5
5 INSTALL 5¥5%1/2" ANGLE-X REINFORCEMENT. | 65'-2" 74 -9+ |0 :g_a 2'13: £15
=¥
REPLACE THE LEG SPLICE BOLTS AT THE BASE . S £ls
& | wiTr NEW 5/8" A450 BOLTS. 0'-0 =2 O-14D8 (.
REPLACE THE LEG SPLICE BOLTS AT 33'-1" iag o 2|3
7 | WITH NEW S/8" A325 BOLTS. B | Wt | D1&0S || IS e =1 8
i R
P %wsg'nmsmmwzroposm g | s SR
228 COOARTOWN ROAD
D'I, 0_10, FARD MAVIN, WA (e
9 INSTALL THE TOWER EXTENSION. 74-8" | 130-0" | o1n,043, || b
& D14 TR
. D-1, D12 Remrg'ggéusm
10 | INSTALL SxSx1/2" ANGLE-X REINFORCEMENT. | 45'-4 652" | 513 apie :
11 INSTALL THE SAFETY CLIMB SYSTEM. 0-0° | 130'-0" | p15&D16
SPECIFICATIONS
SEE STRUCTURAL COMPONENTS, LLC PASSING WITH MODIFICATIONS — —
STRUCTURAL ANALYSIS SSC JOB NO. 160891, DATED 11/11/2016) FOR
TOWER LOADING DETAILS AND ANALYSIS ASSUMPTIONS. S-1 0




CONSTRUCTION SEQUENCE

. AFTER THE TOWER EXTENSION HAS BEEN INSTALLED THE DISHES THAT WERE REMOVED WILL BE INSTALLED
ON THE EXTENSION AT THEIR PROPOSED ELEVATIONS.

TURNING MILL
CONSULTANTS. INC

-

. ONCE ALL OF THE REINFORCEMENT HAS BEEN INSTALLED ON THE TOWER THE TWO DISHES THAT WERE —
REMOVED FROM THE RING MOUNTS MAY BE MOUNTED ON THE TOWER EXTENSION AT THEIR PROPOSED

¥ ELEVATIONS. 7 Structural
& 50, Somponents
7 Na SN\ . THE TWO UPPER DISHES WILL HAVE TO BE TEMPORARILY REMOVED SO THE ANGLE-X REINFORCEMENT MAY BE (856) 386 - 7622
: - ALLED. 2
s;a INSTALLED JOB#: 160881 |
{ <), —
’0 £u STANP.
W SN ‘
S
S
2,4 PRELIMINARY,
SN NOT FOR
: a@ 37 CONSTRUCTION
i 4 : . ONCE ALL THE TOWER REINFORCEMENT (EXCEPT FOR THE ANGLE-X REINFORCEMENT FROM 45'-4" TO 65'-2")

AND THE TOWER EXTENSION HAS BEEN INSTALLED THESE TWO DISHES AND RING MOUNTS ARE TO BE
REMOVED SO THE ANGLE-X MAY BE INSTALLED FROM 45'-4" TO 65'-2".

. THE TWO DISHES ON THE RING MOUNTS WILL BE LEFT AS IS AND REMAIN ACTIVE UNTIL AFTER THE TOWER B
EXTENSION HAS BEEN INSTALLED. =

NARY OGS

NOTES: ‘ | |
1. FOLLOW THE ORDER INSTALLATION ON THE S-1 SHEET. | 1] 1]
2. ALL DISH RELOCATIONS ARE TO BE PERFORMED IN UNDER 6 WEEKS. IF ANY HURRICANES OR | | ‘
OTHER EXTREME WIND EVENTS ARE FORECASTED DISHES WILL NEED TO BE MOVED BACK TO i
THEIR ORIGINAL LOCATIONS. 1
3. FINAL DISH MOUNT DETAILS TO BE DETERMINED AT A LATER DATE. i B3 £ =

SENCAPION

o | 1viwas | ratuses

w0 | pase

220 COCARTOWK ROAD
VINCYARD MAVEN, WA (3500

B y———
G ——
-

SS.T.
REINFORCEMENT

P ITAAL

CONSTRUCTION
SEQUENCE

D1 |0




ANGLE-X REINFORCEMENT BASE DETAILS

NOTE: COAT ALL EXPOSED SURFACES
ST — WITH A MINIMUM OF TWO COATS OF
- ‘ BRUSH ON GALVALITE ZRC PAINT.

A

ATTACH THE ANCHOR
RODS TO THE ANGLE-X
USING:

4) 1-1/2" NUTS

2) 1-1/2" FLAT WASHERS

2) 3/4" THICK TERM. WASHERS
TYP. PER ANCHOR ROD

ATTACH THE ANGLE-X
BASE TERM. WELDMENTS
TO THE ANGLE-X USING:

glog 3/4" x 2-1/2" A325 BOLTS REF. SHEET D-3 FOR

ADDITIONAL ANCHOR

3 Ttk WiSHERS ROD INSTALL DETAILS.

10) 3/4" LOCK WASHERS

10) 3/4" NUTS

TYP. PER LOCATION

T CP-02351-09

S5x5x1/2" ANGLE-X
ATTACHMENT CLIP

TYP. ANGLE-X ATTACHMENT

ATTACH THE ANGLE-X EIE_IGPS FOR 5"x5" TOWER

ATTACH THE ANGLE-X
ATTACHMENT CLIPS TO

1-1/2" x 6"-6" ANCHOR ROD
THE TOWER LEG USING:

ENSURE THE ANGLE-X TYP. PER LOCATION

EXISTR?GGMS‘IEIFS;ET&E (2 gggg-lﬁ" A325

PLATES. ANGLE-X REINFORCEMENT ] s (2) 3/4" FLAT WASHERS

TYP. PER LEG 2 % g;:: lﬁ%WASHERS
ENSURE THERE IS A 2' MAX. C-C TYP. THROUGHOUT THE

SPACING BETWEEN THE ANGLE-X
ATTACHMENT CLIPS. THE BOLT
SPACING HAS BEEN SETAT A 1'CC
TO AVOID OBSTRUCTIONS. EXTRA
ATTACHMENT CLIPS HAVE ALSO
BEEN PROVIDED.

3'-0" HOLE DEPTH
1-3/4" @ HOLE

ANGLE-X REINFORCEMENT

CW-00849-02
ANGLE-X BASE TERM.

CW-00849-01
ANGLE-X BASE TERM.
WELDMENT_LEFT
TYP. PER LOCATION

ATTACH THE ANGLE-X
BASE TERM. WELDMENTS
TO THE TOWER LEG

USING:
USE THE ANGLE-X (10) 3/4" x 2-1/4" A325
REINFORCEMENT AS 2 - BOLTS
A TEMPLATE TO ALIGN - = 2 10) 3/4" FLAT WASHERS
THE ANCHOR ROD wrpills 10) 3/4" LOCK WASHERS
.......... HOLES. N 10) 3/4" NUTS
. PER LOCATION®

TURNING MILL
CONSULTANTS, INC

®
<
'S

o,
(e s i
11611 ES1ST AVE
DENVER, CO 80239
(858) 385 - 7622
JOB #: 160891

STAVP:

PRELIMINARY,
NOT FOR
CONSTRUCTION

By |oun]aro

FRTUNVAARY DRENNDS

o v

| OATE | ctesheTon

~




ANGLE-X REINFORCEMENT BASE DETAILS (CONT'D)

Dogeg A g
11611 E S1STAVE
DENVER, CO 80239
tﬁ 386 - 7622
# 160891
STAUP
PRELIMINARY,
NOT FOR
CONSTRUCTION
ANCHOR ROD INSTALL NOTES:
1. ANCHOR ROD HOLES MAY BE DRILLED OR CORED. IF CORED,
AN APPROVED ROUGHENING METHOD MUST BE USED.
2. HOLES SHALL BE FREE OF DEBRIS AND MOISTURE; CLEAN HOLES Toe réumaton cortaned i T s o1
WITH A VACUUM IF NECESSARY. e v i P
3. USE HIT-RE 500 V3 TO BOND THE ANCHOR RODS TO THE e Y
FOUNDATION.
4, REFER TO THE MANUFACTURES INSTRUCTIONS FOR Toviens
86.5° ALLOWABLE INSTALLATION TEMPERATURE RANGE. £%
30" 30" 5. FOLLOW ALL MANUFACTURES PREPARATION AND INSTALLATION 2|k
INSTRUCTIONS. 3
6. AFTER DRILLING / CORING IS FINISHED COMPLETE TAPE DROPS 21s

WITH PHOTOS FOR EACH HOLE. INSTALL ANCHOR ROD INTO
HOLE TO ENSURE THERE ARE NO OBSTRUCTIONS, REMOVE,
INSTALL EPOXY AND REINSTALL ANCHOR ROD.

7. APPROXIMATE EPOXY NEEDED = 1/4 GAL. PER ANCHOR ROD,
2 GAL. TOTAL

0 |18 | PRELIAAY OARNNGS

M| oAt | ECERTION

NOTE: THE ANGLE-X ANCHOR RODS FOLLOW THE TAPER OF THE
TOWER LEG IN ONE DIRECTION. DO A MOCK FIT UP OF THE ANGLE-X
TO CHECK THE ANCHOR ROD ALIGNMENT AND LOCATION.




ELEV: 19"-8"

CP-02351-01
5x5x1/2" ANGLE-X
15'-0" LONG

2-0"C-C
MAX.

ANGLE-X REINFORCEMENT DETAILS (0'-0" TO 38'-11")

CP-02351-10
5x5x1/2" ANGLE-X SPLICE

ATTACH THE ANGLE-X

< SR
54 g@':‘_éZ-xiz' o l('g)G;}'f'l?:Gz:-uv A325

§ 3 oocwisrers ) S P SIS
8) 3/4" NUTS gsi 3/4" LOCK WASHERS

TYP. PER LOCATION 8 374" NUTS

TYP. PER LOCATION

ATTACH THE ANGLE-X
ATTACHMENT CLIPS TO
THE ANGLE-X USING:

2) 3/4"x2-1/2" A325 BOLTS

2) 3/4" FLAT WASHERS

2) 3/4" LOCK WASHERS

2) 3/4" NUTS
TYP. THROUGHOUT THE
ANGLE-X REINFORCEMENT

CP-02351-09
Sx5x1/2" ANGLE-X
ATTACHMENT CLIP
REF. SHEET D-2

ATTACH THE ANGLE-X
FOR INSTALL DETAILS

ATTACHMENT CLIPS TO

THE TOWER LEG USING:

(2) 3/4"x2-1/4" A325
BOLTS

§2§ 3/4" FLAT WASHERS

2) 3/4" LOCK WASHERS

2) 3/4" NUTS

TYP. THROUGHOUT THE
ANGLE-X REINFORCEMENT

ANGLE-X INSTALL NOTES:

1. ENSURE THERE IS A MAXIMUM 2'-0" ANGLE-X CLIP
SPACING. THE HOLE PATTERN IN THE ANGLE-X IS
SET AT 1'-0" C-C. EXTRA CLIPS WILL BE SENT TO
GET AROUND OBSTRUCTIONS AND MAINTAIN A
MAXIMUM CLIP SPACING OF 2'-0".

2. 13/16" @ HOLES WILL HAVE TO BE FIELD DRILLED
INTO THE TOWER LEG TO ACCOMMODATE FIT UP.
USE THE ANGLE-X CLIPS AND SPLICES AS A
TEMPLATE TO FIELD DRILL THE LEG.

3. COAT ALL EXPOSED SURFACES WITH A MINIMUM
g:ITN_Y!O COATS OF BRUSH ON GALVALITE ZRC

4, NOT ALL HARDWARE IS SHOWN.

5. REFERENCE SHEET D-13 & D-14 FOR REINFORCEMENT
OBSTRUCTIONS.

CP-02351-11
Sx4x1/2" ANGLE-X SPLICE

ATTACH THE ANGLE-X
SPLICE TO THE TOWER
LEG USING:
AT
ATTACH THE ANGLE-X.
T A B §) 3/4" FLAT WASHERS
B i e manse
4" x 2-1/2" A32 =
UF s TVP. PER LOCATION
8) 3/4° FLAT WASHERS
§ 3 s g
x4x1/2" -
TYP. PER LOCATION ATTACHMENT CLIP

ELEV: 33'-1"

CP-02351-09

Sx5x1/2" ANGLE-X
ATTACHMENT CLIP
REF. SHEET D-2

FOR INSTALL DETAILS

; TURNING MILL
CONSULTANTS, INC

11611 ES1ST AVE
DENVER, CO 80229

(855) 385 . 7622
JOB #: 160891

STAW.

PRELIMINARY,
NOT FOR
CONSTRUCTION

v |0 W
oy |cnx|aro

FITETY

O 1108 | PRELIVNARY DAX

.| oA | CESCRETION

S.S.T.
REINFORCEMENT

REINFORCEMENT
DETAILS (CONT'D)

IR ===

D4 |0




ANGLE-X REINFORCEMENT DETAILS (38'-11" TO 45'-4")
* TURNING MILL
| {  CONSULTANTS.INC
- 6-8" :&
32 TYP. 31 | |’
AND WILL NEED TO & i‘"i Sy 1
BE FIELD FABRICATED. a2
s W 00 LX) X 00 LX) ——oo/o-
{ 3 = Structural
3 —i N a3 I Components
ELEV: 45'4" FIELD CUT THE ANGLE TO THE CORRECT LENGTH SO THAT THE FIELD CUT S
END OF THE ANGLE COMES UP TO THE TAPER CHANGE OF THE TOWER LEG. 11611 £ 515T AVE
FIELD DRILL THE (4) 0 13/16” TAPER SPLICE BOLT HOLES, MATCH THE DENVER, CO 0253
CP-02351-14 DIMENSIONS OF THE (4) @ 13/16" SPLICE BOLTS HOLES ABOVE. R o 360001
CP03351-15 ANGLE-X TAPER SPLICE
O R SALICE LEFT BEND CP-02351-08 FIELD FABRICATION DETAILS —
RIGHT BEND
PRELIMINARY,
e e Ae s e
. : ONSTRUCTION
4) 3/4" x 2-1/2" A325 BOLTS e &
s 4 34" LOCK WASHERS
CP-02351-08 MEDIT ANGLE-X INSTALL NOTES:
Sx3x1/2" ANGLE-X . PER LOCATION 1. ENSURE THERE IS A MAXIMUM 2'-0" ANGLE-X CLIP
S SPACING. THE HOLE PATTERN IN THE ANGLE-X IS T
ROTE: CP 2L s SET AT 1'-0" C-C. EXTRA CLIPS WILL BE SENT TO e A
WILL BE SENTLONG  J§ GET AROUND OBSTRUCTIONS AND MAINTAIN A ——
AND WILLNEEDTO € - MAXIMUM CLIP SPACING OF 2'-0".
AR & e IR R T
NOTE: INSTALL THE ANGLE-X ; HE
NS TG THE TAPER CHANGE THEN USE THE ANGLE-X CLIPS AND SPLICES AS A E
INSTALL THE REST OF THE TEMPLATE TO FIELD DRILL THE LEG. —=
TOWER REINFORCEMENT. THE 3. COAT ALL EXPOSED SURFACES WITH A MINIMUM I
DISHES ON THE RING MOUNTS OF TWO COATS OF BRUSH ON GALVALITE ZRC
O HEY AN BE ey 4. NOT ALL HARDWARE IS SHOWN 3
5. REFERENCE SHEET D-13 & D-14 FOR REINFORCEMENT :
OBSTRUCTIONS. g
TOWER § 3
THE EXISTING RING MOUNTS MAY il2
BE REMOVED AND THE ANGLE-X E:
FROM 45'-4" TO 65™-2" MAY BE :
5|3
elvlnl~]|-]*]|8
228 COGARTOWN ROAD
VINLYAND MAVEN, WA 30708
SS.T.
REINFORCEMENT
REINFORCEMENT
DETAILS (CONTD)
D-5 |0




- 2-11%" @1% wp_l\ __‘ ‘_

E —o] ‘=112'

CP-02374-01

2x2x3/8" REPLACEMENT DIAGONAL
45-4" TO 47'-5"

ELEV: 52'-2"

ELEV: 47'-5"

DIAGONAL SWAP OUT DETAILS

' 4103 = ' 2.%...\ -
| @ '1‘6" TYP. —1 l I_!: Z'i"
|o 6] ﬁ]_‘_
P-02375-01 5 ..“._‘
2- 1/2x2-1/2x5/16" REPLACEMENT DIAGONAL 16
47'-5" TO 52'-2"

OTES:
. THE INNER 11/16" END BOLTS WILL NEED TO
BE FIELD DRILLED.

2. gngFrT;iS REPLACEMENT DIAGONALS AS NEEDED

3. COAT ALL EXPOSED SURFACES WITH A MINIMUM
S:ITN\;_VO COATS OF BRUSH ON GALVALITE ZRC

4. DO NOT REMOVE AND REPLACE ANY TOWER
MEMBERS IF WINDS ARE EXPECTED TO BE 20 MPH
OR GREATER.

5. DO NOT REMOVE AND REPLACE MORE THAN ONE

MEMBER AT A TIME.

WHEN THE DIAGONALS ARE REPLACED REPLACE
ALL THE DIAGONAL END BOLTS WITH:

2) 5/8" x 2" A325 BOLTS

2) 5/8" FLAT WASHERS

2) 5/8" LOCK WASHERS

2) 5/8" NUTS
TYP. PER LOCATION

TURNING MILL
CONSULTANTS, INC

_? Structural

»wu. .-

11611 E 51STAVE
DENVER, COMS
(866.‘388
JOoB#

STAMP

PRELIMINARY,
NOT FOR
CONSTRUCTION

s

LECAM TN

o [ 1v1vs | PRELIV ALY DR
ctce

ML DAY

- -|njn

]

339 COCARTOWN ROAD
VINLYARD AVEN, MA 02548

S.S.T.
REINFORCEMENT

REINFORCEMENT
DETAILS (CONT'D)

D6 |0 |




ANGLE-X REINFORCEMENT DETAILS (65'-2" TO 74'-8")
NOTE: THE TOWER EXTENSION IS NOT TO BE INSTALLED UNTIL THE ANGLE-X IS INSTALLED FROM 65'-2" TO 74-8".

CP-02351-11
ELEV: 74'-8" Sx4x1/2" ANGLE-X SPLICE

ATTACH THE ANGLE-X
> SL%I%INTOGTHE TOWER

ATTACH THE ANGLE-X ~d " 9.1/4"
SPLICE TO THE ANGLEYX (X BT A

: : 4) 3/4" FLAT WASHERS
(4) 314" x 2-1/2" A325 §4 34" LOCK WASHERS
4) 374" FLAT WASHERS AT
§4§ 3/4" LOCK WASHERS - PER LOCATION
4) 3/4" NUTS

TYP. PER LOCATION

ANGLE-X INSTALL NOTES:
1. ENSURE THERE IS A MAXIMUM 2'-0" ANGLE-X CLIP
SPACING. THE HOLE PATTERN IN THE ANGLE-X IS
SET AT 1-0" C-C. EXTRA CLIPS WILL BE SENT TO
GET AROUND OBSTRUCTIONS AND MAINTAIN A
MAXIMUM CLIP SPACING OF 2'-0".
2. 13/16" @ HOLES WILL HAVE TO BE FIELD DRILLED
INTO THE TOWER LEG TO ACCOMMODATE FIT UP.
USE THE ANGLE-X CLIPS AND SPLICES AS A
TEMPLATE TO FIELD DRILL THE LEG.
CP-02351-21 3. COAT ALL EXPOSED SURFACES WITH A MINIMUM
CP-02351-16 ' Sx4x1/2" ANGLE-X OF TWO COATS OF BRUSH ON GALVALITE ZRC
5x5x1/2" ANGLE-X ATTACHMENT CLIP PAINT.
9'-5-7/8" LONG REF. SHEET D-4 FOR 4. NOT ALL HARDWARE IS SHOWN.
NOTE: BOLT ; INSTALL DETAILS 5. REFERENCE SHEET D-13 & D-14 FOR REINFORCEMENT
W&%’é o e OBSTRUCTIONS.

NOTE: THE ANGLE-X FROM 45'-4" TO 65'-2" IS TO BE INSTALLED LAST.

I TURNING MILL
L CONSULTANTS.IN

P T

11611 € 51ST AVE
DENVER, CO 80233
(856) 386 - 7622

o 160891

PRELIMINARY,
NOT FOR
CONSTRUCTION

| 0 | WS
&Y |Cnx] o)

@ | Iviuse | PRIV ALAY DREAINDS

Vo] oAE | oescRE IO

REINFORCEMENT
DETAILS (CONTD)

S —

D7 |0




THE EXISTING 5/8" BOLTS AT THE BASE SPLICE ARE TO
BE REPLACED WITH NEW 5/8" A450 BOLTS. REPLACE THE
EXISTING BASE LEG SPLICE BOLTS WITH:
1) 5/8" x 2-1/4" A490 BOLT
1) 5/8" FLAT WASHER
1) 5/8" LOCK WASHER
1) 5/8" NUT
TYP. PER LOCATION

LEG SPLICE BOLT REPLACEMENT DETAILS

SPLICE BOLT REPLACEMENT NOTES:

ARE EXPECTED TO BE 20 MPH OR GREATER.
2. %Nh:.g REMOVE AND REPLACE ONE SPLICE BOLT AT A

1. DO NOT REPLACE ANY TOWER SPLICE BOLTS IF WINDS

THE EXISTING 5/8" BOLTS AT THE 33'-1" TOWER SPLICE
ARE TO BE REPLACED WITH NEW 5/8" A325 BOLTS.
REPLACE THE EXISTING BASE LEG SPLICE BOLTS WITH
1) 5/8" x 2-1/4" A325 BOLT
1) 5/8" FLAT WASHER
1) 5/8" LOCK WASHER
1) 5/8" NUT

P. PER LOCATION

!’_? Structural
i e ey

11611 E51ST AVE
NVER, CO 80233

PRELIMINARY,
NOT FOR
CONSTRUCTION

oy |Orkinre

DEACAPTION

Vol oare

.S.T.
REINFORCEMENT

REINFORCEMENT
DETAILS (CONT'D)

T CTey

1

D-8 01




FI
1.

I

ELD CUT NOTES:

TOP OF TOWER FIELD CUT DETAILS

FIELD CUT THE TOWER LEGS AT
THE APPROXIMATE MID PANEL.

ENSURE THE TOWER LEGS ARE CUT PERPENDICULAR TO THE HEEL EDGE OF THE ANGLE.
GUT THE SAME AMOUNT OF ANGLE OFF EACH LEG. THE TOP OF THE TOWER SHOULD BE LEVEL AFTER THE FIELD CUTS.

AND LEAVE THE DIAGONAL STITCH BOLTS IN PLACE.

" FLOAT THE TOP DISH UNTIL IT CAN BE RE-BOLTED TO THE TOWER EXTENSION
. THE UPPER END CONNECTION OF THE DIAGONALS WILL BE

BOLTED TO THE PROPOSED TOWER EXTENSION. REMOVE THE UPPER DIAGONAL END BOLTS

; TURNING MILL
CONSULTANTS, INC

F:-'? ctural
L

11611 ES1ST AVE
DENVER, CO 80239
(266) 385 - 7622
JOB #: 160891

STAN.

PRELIMINARY,
NOT FOR
CONSTRUCTION

PSS

MARY DR

9 | ravia R

w|w|nln|=]

238 COGARTOWN ROAD
VIREYARD MAVEN, VA 2250

SS.T.
REINFORCEMENT

REINFORCEMENT
DETAILS (CONTD)

D9 |0 J




2380-06 TOWER EXTENSION DETAILS (74'-8" TO 94'-9")
cP-0 CP-02380-04 3 TURNING MILL
3-1/2x3-1/2x3/8" SE%E% : D A NOTES: TOWER EXTENSION | CONSULTANTS, INC
A %L%“sm“ - ‘ 1. NOT ALL HARDWARE IS SHOWN. SPLICE PLATE o -
s ?ERL 3 2. ALL TOWER EXTENSION PARTS TYP. PER LOCATION
. . ; WILL COME FULLY PRE-FABRICATED
7% - EXCEPT FOR THE EXISTING DIAGONAL
ELEV: 04'-0" : INTERFACE. NOT ALL BOLT HOLES
: ‘ 3. CORTALL EXPOSED SURFACES WITH Ly r MI
" AMINIMUM OF TWO CONTS OF SPUICE PLATE SPACER é?.l e el
*  TYP. PER LOCATION 11611 £ S1ST AVE
DENVER, CO 80236
NOTE: INSTALL CP-02380-05 TO ACT AS A SPACER WHERE (268) t6 - 1622
PO THE TOWER EXTENSION LEGS REDUCE IN THICKNESS. :
4x4 1-7’:2,'8 géoclx TOWER
> > CTAV,
ER SPLICE THE TWO TOWER EXTENSION LEGS TOGETHER USING:
e 308 KA
TYP. PER LEG . PRELIMINARY,
2§ S SOk WASHERS NOT FOR
TYP. PER LOCATION CONSTRUCTION
SINGLE | DOUSLE DEIANE
oAy 2" ELEVATION | MEMBER | Memser |sTITcHBoLT T:lu::‘s:elsLs
bouc ma& EXTENSION END 2OLT | ENDBOLT - et e
- O o .1/4"" .1/4" CH D NALS e & oacionne Tt v
WIAGOP. N EHOUT THE 748" T0 949" 5/8"x 2" 5/8" x 2 1/ 5/8" x 2 1{4 Y TSOGl T ‘mea US]”GONG: : - T A T
TOWER EXTENSION 9" TO 114-9" | 5/8"x 2 5/8"x2" | 5/8"x2 3/8" 1 l?{/lsb;c gﬁs BOLT \ = —————
114-9" 70 130-0" |5/8" x 1-3/4"| 5/8"x2" | 5/8"x2" 4" A N = —
SISx L3/¥) SfEx Ve x Y 1) 5/8" FLAT WASHER —ENE BE
1) 5/8" NUT N YK
Pé% g&m FOEON E
ATTACH ALL THE . S
DOUBLE MEMBER H.W. SIZES
D END CONNECTIONS ,
USING: §
1) 5/8" A325 BOLT CP-02351-11 3
19 5/8" FLAT WASHER Sxdx1/2" ANGLE-X SPLICE 5|,
1) 5/8" LOCK WASHER TYP. PER LOCATION I
1) 5/8" NUT £|3
TYP. PER LOCATION ATTACH THE ANGLE-X §l3
REF. CHART FOR SPLICE TO THE TOWER d 5
H.W. SIZES EXTENSION USING: |
(4) 3/4" x 2-1/2" A325 |z
CP-02380-02 ATTACH THE EXISTING BOLTS sle(al=1-1+]3
2x2x3/16"x5' 1-1/2" LONG DIAGONALS TO THE 4) 3/4" FLAT WASHERS
;8\3’152% mns]ou TOWER EXTENSION z g;:' IL‘IOU?(S WASHERS e —————
USING: " N A s i
TYP. THROUGHOUT THE 1) 5/8" x 2" A325 BOLT TYP. PER LOCATION ¢ / - RS N W e32es
TOWER EXTENSION 1) 5/8" FLAT WASHER ) ; >
1) 5/8" LOCK WASHER : ATTACH ALL THE SINGLE ET‘_T——’
b PER LOCATION e REINFORCEMENT
: 1) 5/8" A325 BOLT =
1) 5/8" FLAT WASHER TOWER EXTENSION
DRILLED THROUGH THE 1) 5/8" LOCK WASHER DETAILS
TOWER EXTENSION LEG. 52 1) 5/8" NUT =
TYP. PER LOCATION
DETAIL B REF. CHART FOR H.W, SIZES DETAIL A D10 O




TOWER EXTENSION DETAILS (94'-9" TO 130'-0")
NOTE: FIELD DRILL A 11/16" @ HOLE IN 1 e
THE HORIZONTAL LEG OF A TOP HORIZONTAL : #
AND RE-INSTALL THE EXISTING 5/8" @ x 4' . *
CP-02380-07 LIGHTNING ROD. .
3-1/2x3-1/2x1/4" SEC. 3
TOWER EXTENSION LEG
4 CP-02380-02
e sy 2X2x3/16°x5' 1-1/2" LONG
4 TOWER EXTENSION = Structural
HORIZONTAL. == é?
TYP. THROUGHOUT THE — AJ e A
TOWER EXTENSION = 11611 £ 51ST AVE
DENVER. CO 80239
386. 7622
JOB #: 160831
STANP
COWER EXTENSION
spug: PLATE PRELIMINARY,
{4) PER LEG SPLICE NOT FOR
: TYP. PER LOCATION CP-02380-03 CONSTRUCTION
& ‘ 2RXL/A"XT" 3-1/2"
. 1 LONG TOWER EXTENSION
. DIAGONAL.
© TYP. THROUGHOUT THE
TOWER EXTENSION - ——
T XA
: CP-02380-07 . e o S e > o
< 3-1/2x3-1/2x1/4" SEC. 3 S\ e —
A ; TOWER EXTENSION LEG o T ——
x 15 2-3/4" LONG. ; E
3 TYP. PER LEG I
CP-02380-03 ‘ CP-02380-05 CP-02380-02 .
22x1/4"x7" 3-1/2" B SOALERC 9‘512{‘5%155 22x3/16"%5' 1-1/2" LONG ‘
LONG TOWER EXTENSION PLATE SP € TOWER EXTENSION ! 3
TYP, THROUGHOUT THE FACE OF THE TOWER TO ACT  Typ, THROUGHOUT THE i
THICK LEG, £|E
2) PER LEG SPLICE £ |3
. PER LOCATION HE
CP-02380-02 £
2x2x3/16°x5' 1-1/2" LONG HE
TOWER EXTENSION HE
HORIZONTAL. N R
TYP. THROUGHOUT THE :
TOWER EXTENSION e e——
228 COGANTOWNS FOAD
AT MAVEN, VA (0558
(50—
SS.T.
NOTES: REINFORCEMENT
1. REF. SHEET D-10 FOR TOWER EXTENSION HARDWARE INSTALL DETAILS. e
2. NOT ALL HARDWARE IS SHOWN. TOWER EXTENSION
3 ALL TOWER EXTENSION PARTS WILL COME FULLY PRE-FABRICATED EXCEPT FOR THE EXISTING DIAGONAL DETAILS (CONTD)
INTERFACE. NOT ALL BOLT HOLES ARE SHOWN. ]
4. COAT ALL EXPOSED SURFACES WITH A MINIMUM OF TWO COATS OF BRUSH ON GALVALITE ZRC PAINT. D-11 | O




ELEV: 65'-2"

CP-02351-12
SXSXIIEA ANGLE-X

BE FIELD FABRICATED.

ANGLE-X REINFORCEMENT DETAILS (45'-4" TO 65'-2")

CP-02351-11 ONCE THE ANGLE-X FROM
4x1/2" X SP 45'4" TO 65'-2" IS
Sx4x1/2" ANGLEX SPLICE (2.0 e CT1Y INSTALLED
USE THE ANGLE-X AS A
TEMPLATE TO FIELD
DRILL THE 13/16 &
ATTACH THE ANGLE-X ATTACH THE ANGLE-X HOLES THROUGH THE
SPLICE TO THE ANGLE-X SPLICE TO THE TOWER ~ BENT ANGLE-X TAPER

Ussngﬁ: 2-1/2" A325 %SE)G;/J‘QSIN GZ 1/4" A325
" x < " " x ' "
x )BOLTS BOLTS

8) 3/4" FLAT WASHERS 8) 3/4" FLAT WASHERS
ESE 3/4" LOCK WASHERS §8§ 3/4" LOCK WASHERS THE ANGLE-X USING:
8) 3/4" NUTS 8) 3/4" NUTS (4) gg; T’é 2-1/2" A325

TYP, PER LOCATION TYP. PER LOCATION

4) 3/4" FLAT WASHERS

43 3/4" LOCK WASHERS

4) 3/4" NUTS

TYP. PER LOCATION
Scaxl/2 AVGLE X
ATTACHMENT CLIP DETAIL B
REF. SHEET D-4 FOR
INSTALL DETAILS

200" !
3%" TYP. 33»

_J’s"'—‘ Ge_ sf es  we. v e G4’ ge.  se 'se’ 'ws-__ sy _as -ab._ as

= h—s
i_. _I,_ LS‘ \LFIELD CUT THE ANGLE TO THE CORRECT LENGTH SO THAT THE FIELD CUT
END OF THE ANGLE COMES UP TO THE TAPER CHANGE OF THE TOWER LEG.
FIELD DRILL THE (4) @ 13/16" TAPER SPLICE BOLT HOLES, MATCH THE
DIMENSIONS OF THE (4) @ 13/16" SPLICE BOLTS HOLES ABOVE.

CP-02351-12 FIELD FABRICATION DETAILS

ANGLE-X INSTALL NOTES:

1. ENSURE THERE IS A MAXIMUM 2'-0" ANGLE-X CLIP SPACING. THE HOLE PATTERN IN THE ANGLE-X IS
SET AT 1'-0" C-C. EXTRA CLIPS WILL BE SENT TO GET AROUND OBSTRUCTIONS AND MAINTAIN A
MAXIMUM CLIP SPACING OF 2'-0".

. 13/16" @ HOLES WILL HAVE TO BE FIELD DRILLED INTO THE TOWER LEG TO ACCOMMODATE FIT UP.
USE THE ANGLE-X CLIPS AND SPLICES AS A TEMPLATE TO FIELD DRILL THE LEG.

. (PZOAT ALL EXPOSED SURFACES WITH A MINIMUM OF TWO COATS OF BRUSH ON GALVALITE ZRC

AINT.
. NOT ALL HARDWARE IS SHOWN.
. REFERENCE SHEET D-13 & D-14 FOR REINFORCEMENT OBSTRUCTIONS.

nh W N

¥ TURNING MILL
M coxsug_;xm INC

@

11611 ESIST AVE
DENVER, CO 80239
(855) 385 - 7622
JOB #: 160891

CTANS

PRELIMINARY,
NOT FOR
CONSTRUCTION

A § 00 | We
oy jeuejaro)

0 | 1S | PRELIVINAR Y DRLANDS

wo.| oare |cescarnow

|

228 COOARTOWN #OWD
WINCVARD MAVIN, WA 20908
SST.
REINFORCEMENT

REINFORCEMENT
DETAILS (CONT'D)

=T Oy
o T

D-12 | O




THE SITE IS ONLY ACCESSIBLE BY FERRY. REINFORCEMENT OBSTRUCTIONS

FREIGHT VEHICLES WILL HAVE TO TRAVEL VIA
FERRY TO DELIVER MATERIAL.

THE EXISTING SOLID ROD LEG REINFORCEMENT FROM

e 4 ~

4 g P— 0' TO 44' ON ALL (4) TOWER LEGS WILL NEED TO BE
t B o2 A REMOVED PRIOR TO INSTALLING THE PROPOSED
R Xed: : ANGLE-X REINFORCEMENT. THE EXISTING SOLID ROD
bl REINFORCEMENT IS ATTACHED TO THE TOWER LEGS
~— J . WITH 5/8" BOLTS.
= :

o v (s o |

" OVERHEAD POWERLINES ALONG THE ROADWAY
WILL LIMIT CRANE AND HOISTING ACCESS.

7 : =
//-’ - ..—/ ’/“',.

s ’
e s

NOTE: NEW STEP PEGS AND SAFETY CLIMB WILL BE
INSTALLED.
REF. SHEET D-17 & D-18 FOR SAFETY CLIMB
INSTALL DETAILS.

THE EXISTING SAFETY CLIMB AND STEP PEGS FROM
0' TO 33' ON LEG D WILL NEED TO BE REMOVED PRIOR
TO INSTALLING THE ANGLE-X REINFORCEM ENT.]

= Structural
3 Somponents

11611 € 51ST AVE
DENVER, CO 80239
(886) 385 - 7622
JOB #: 160891

STAMP

PRELIMINARY,
NOT FOR
CONSTRUCTION

The riurvaton " et of

ol T T Gt NG 8 STy
oned

R

= T3
-3 B
| = |z
1 . o

| -
Z|8
| s|8
| 2|8
2|5

B
wlwlaju]|=|o]5
{ >

70 (OCARTOWN POAD
VINTYAND HAVIN, WA Cones

S.S.7.
REINFORCEMENT

REINFORCEMENT
CESTRUCTIONS

D13 | 0O




REINFORCEMENT OBSTRUCTIONS (CONT'D)

EXISTING SAFETY CLIMB TOP TERMINATION AT 33'
TO BE REMOVED PRIOR TO ANGLE-X INSTALLATION.

EXISTING SAFETY CLIMB BASE TERMINATION
TO BE REMOVED PRIOR TO ANGLE-X INSTALLATION.

BOLT ON STEP PEGS FROM 0' TO 33' TO BE REMOVED PRIOR
TO ANGLE-X INSTALLATION.

BOLT ON SOLID ROD REINFORCEMENT FROM 0' TO 44' TO BE
REMOVED PRIOR TO ANGLE-X INSTALLATION.

THE (3) DISHES AND M
THE ANGLE-X FROM 45'4" TO 65'-2"
ACTIVE. ONCE ALL OF THE REINFORCEMENTS AND TOWER EXTENSION HAVE BEEN INSTALLED

RE-LOCATE THESE (3) DISHES AND MOUNTS TO THE TOWER EXTENSION. AFTER THESE DISHES

AND MOUNTS HAVE BE

OUNTS FROM 55" TO 65' ARE TO REMAIN ACTIVE DURING CONSTRUCTION.

IS TO BE INSTALLED LAST SO THESE DISHES CAN REMAIN

EN RE-LOCATED TO THE TOWER EXTENSION THE ANGLE-X FROM 45'-4" TO
65'-2" IS TO BE INSTALLED.

TURNING MILL
CONSULTANTS, INC

r-5J Structural
E00 RoRoueres

11811 E 51ST AVE
DENVER. CO 80228
(866) 385 - 7622
JOB 2. 160891

LTS

PRELIMINARY,
NOT FOR
CONSTRUCTION

The nfoematinn contamed in es st of
Goturmmets & By nates.

SIS RPTON

.| oatc

220 COCANTONWN ROAD
VENDYARD WAVON, WA 73468

S.S.T.
REINFORCEMENT

REINFORCEMENT
CESTRUCTIONS
(CONTD)

-—— J




ANGLE-X SAFETY CLIMB DETAILS
I TURNING MILL
§ CONULTAMTSINC
g) H42-0500-36's WILL BE | ;
OVIDED TO BE INSTALLED
AROUND THE ANGLE-X
REINFORCEMENT AND TOWER
LEG AT APPROXIMATELY 25'
INTERVALS. =
| chlll_lp'_’oneu‘ s
11611 ESIST AVE
DENVER, CO 80229
(8565) 385 . 7822
JOB 2 160891
\ ATTACH CP-02351-18 TO THE
ANGLE-X AS SHOWN FROM THE o
: REINFORCEMENT. PRELIMINARY,
‘ NOT FOR
WHEN THE BENT STEP PEG PLATE ;
IS BOLTED TO ONLY THE ANGLE-X CONSTRUCTION
ATTACH THE BENT STEP PEG PLATE
TO THE ANGLE-X USING:
2) 3/4" x 2-1/4" A325 BOLTS
2) 3/4" FLAT WASHERS
% g;:- NUTS WASHERS PART #: H42-0500-36 | o mowm saserv cuns- €30 100G AoAPTR wr cABE G L
TYP. PER LOCATION SIS e T
WHEN THE BENT STEP PEG PLATE e ..on
IS BOLTED TO THE ANGLE-X AND B
AN ANGLE-X ATTACHMENT CLIP 2|3
ATTACH THE BENT STEP PEG PLATE =13
TO THE ANGLE-X USING: AE
2) 3/4" x 2-3/4" A325 BOLTS
2) 3/4" FLAT WASHERS ,
29 3/4" LOCK WASHERS g
2) 374" NUTS 3
TYP. PER LOCATION 8|
ils
wlelalnl=-leo 9
: e
- \ Rasems,
. —H42-0500-38 WILL BE PROVIDED DA )
. TO BE USED AS THE NEW SAFETY EE— ==
- %Brﬂ%ﬁa%nmmnmsﬂwau'ms ) REINFORCEMENT
. TERMINATION AROUND THE TOWER =
. LEG AND ANGLE-X REINFORCEMENT. ANGLE-X SAFETY CUME
™ DETAILS
PART #: H42-0500-38 | 150 MOUNTED SARTY Cuid - 47 20 167 LS ADAMTER 80T ALSEN D-15 ' o




TOWER EXTENSION SAFETY CLIMB DETAILS
§ TR

’é’-;-

INSTALL THE PROVIDED 5/8" STEP BOLTS UP THE
TOWER EXTENSION.

11611 E S1STAVE
DENVER, CO 80239
(886) 386 - 7622
JOB #: 160801
J
STAN.

(2) H42-0500-35"s WILL BE PRELIMINARY,
R,
LEG g.’ :&’ROXIMATELY 25 CONSTRUCTION

relates 9 P Clont savad i WoTY
[ e
BOLT CA-00531-01 R13
THROUGH THE ANGLE LEG USING: z|&
43 5/8" x 1-3/4" A325 BOLTS
4) 5/8" FLAT WASHERS
4) 5/8" LOCK WASHERS 8
4) 1/2° NUTS @
NOTE: INSTALL THE FLAT WASHERS g
BETWEEN THE TO ANGLES TO ACT AS Ak
A RINGFILL. Z 3
z|%
NOTE: THE SAFETY CLIMB TOP TERMINATION —
WILL BOLT TO THESE PLATES. FOLLOW THE 2|8
MANUFACTURES INSTALLATION INSTRUCTIONS. B bl
Alwlaln|=|o 9
1 —
PART #: H42-0500-35 | 100 vormo sary cunva. 70 415G ADAPTIR W) CANE CRE L B
ASD MAVCAL WA 00508
e
SST.
REINFORCEMENT
NOTE: NOT ALL HARDWARE IS SHOWN. mm NER EXTENSION
SAFETY CLIME
DETAILS

D-16 |0




ELEV: 130-0" W TOWER SPECIFICATIONS . )
MANUFACTURER UNKNOWN ¢ TURNING MILL
D=315° A=45° L CONSULTANTS,INC
} ‘ = = HEIGHT / TOWER TYPE 77°-2° TOWER EXTENDED TO 130'-0" / (4) LEGS.S.T. ’;’é A -
N PROPOSED ot CURRENT STRUCTURAL ANALYSIS i
‘ (uza)uzomu_ (2) EWS0 TO 102" COMPANY STRUCTURAL COMPONENTS, LLC
! (2) EWS0 TO 128 AUTHOR / FILE # / DATE WESLEY CULVER, P.E. / 160891 / 11-11-2016
TO 95 FILE LEY QULVER, P.E. =
}{ -9 DESIGN SPECIFICATIONS EE' wﬂfs
T1A-222-G (IBC 2009) DUKES COUNTY, MA 2 .
}.{ PROPOSED QoE MA AMENDMENTS TO IBC DR, L0 40530
AN ‘('m‘; WIND SPEED (BARE) 120 MPH 3-SECOND GUST (868) 388 - 7622
N T01e WIND SPEED (ICED) 40 MPH 3-SECOND GUST
‘ C=225° B=135° ICE THICKNESS 3/4" RADIAL ot
X ” SERVICEABILITY BASICWEND | 60 MpH 3-5SECOND GUST
J COAX AS CONSIDERED  erposy PRELIMINARY,
X IN THE STRUCTURAL COMPONENTS, RE CATEGORY . NOT FOR
}.{ LLC PASSTS%NG WITH mgﬁvsg%noué TOPOGRAPHIC CATEGORY | 1 CONSTRUCTION
/N uCTu STRUCTURE CLASS o
W (SC JOB NO. 160891, DATED 11/11/2016) —crerare qass D, 55=0.179, S, = 0.051
ZaN SEISMIC DESIGN CATEGORY | 8
2l .._@ e =
V TOWER MODIFICATION SCHEDULE _ TR N
ELEVATION AT
AN mEM DESCRIPTION =rron 1 o8 OWG. NO. o :
}A 1 INSTALL ANGLE-X ANCHOR RODS. 3'-3" 3.3 | D2&D3 B
D-1, D=2, D=4, 2|
}A 2 | INSTALL 5xSx1/2" ANGLE-X REINFORCEMENT. | 0°'-0° | 45'-4" | 05,013, T
& D-14 -
&4 SWAP OUT THE EXISTING DIAGONALS WITH < 3
5‘4 3 | NEw 2x20/8" DIAGONALS. oA | Wl | B .
SWAP OUT THE EXISTING DIAGONALS WITH 4 Sk 1
N/ % | New 2-1/2x2-1/2x5/16" DIAGONALS. 47 -5 52'-2" | D1AaD6 i
E |5
"‘ S | INSTALL SGx1/2" ANGLEX RENFORCEMENT. | 65'-2 | 7ar-sr (030723 ' £ (5
DA A L5g P REPLACE THE LEG SPLICE BOLTS AT THEBASE | |, . - —— ‘ £z
(TOPOF B.P.) ~ WITH NEW 5/8" A490 BOLTS. g i
REPLACE THE LEG SPLICE BOLTS AT 33'-1° o e . :
7 | WITH NEW 5/8" A325 BOLTS. $-1 33-1" | D18&D8 sllelel=1s 8
FIELD QUT THE LEGS AT THE TOP OF THE R Sir e
-—@ s 2 74'-8 77 -2 D-1&09 e -
D‘!, bxo‘ VINLYAND MAVTN, WA 02048
9 INSTALL THE TOWER EXTENSION. JR I BT -STAT ST A | S—
& D-14
D1, D12, SS.T.
10 INSTALL Sx5x1/2" ANGLE-X REINFORCEMENT. 45'-4" 652 | o013 a4 REINFORCEMENT
’ E| 2-! S —
11 | INSTALL THE SAFETY CLIMB SYSTEM. 0-0" | 130°-0" | DI1S&D16 A
SEE STRUCTURAL COMPONENTS, LLC PASSING WITH MODIFICATIONS e —_———
DETAIL A
ELEV: -3-3° STRUCTURAL ANALYSIS (SC JOB NO. 160891, DATED 11/11/2016) FOR
: TOWER LOADING DETAILS AND ANALYSIS ASSUMPTIONS. S-1 |0




